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8t A 9,905,394 10,171,004 A265,610 | & A 9,905,3% 10,171,004 A\265,610
X o = 145,290 129,300 15,90 [ Hl 8 Xt & AF & H 148,890 132,900 15,990
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o X 2 3 % 9,638, 104 9,%1,704 A323,600 | O xl = 9,756,504 10,088, 104 A281,600
of = = 0 0 O| XY SA2 24 & 0 0 0
o X = ¢ 122,000 80,000 42,000| 01l =22 S4 & 0 0 0
o B Y 0 0 o2l & X = 0 0 0
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402 RI2t+=01 M 108,000 108,000 0
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O=ss==s FUMEEX 108,000,000& * 14! = 108,000
Ata| = XL Bt 9,756,504 10,038, 104 A281,600
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2017I| o 5,063,466 | 5,000,000 0 0 0 0 63,466 0 0 0 0 0 0 0 0 5,063, 466
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